
























Consider x a acts

of tax bx tab

of ats stab

Factorising is the opposite of this process

I 5 6
I 6
I 6

x 2 o 3
I I

The pair of numbers which go in the
brackets have to multiply to give the number
on the end 6 and add together to give
the number of Xs 5

Further examples

D 22 6 8
I 8
I 8
I 46 2 61 4
r a

2 DC t 11 I 24 I 24
I 24

x 3 GC 8 2 12
2 12

3 8
3 8
4 6

Factorising Quadratic Expressions



4 6

Exercise Factorise

D x 6 5 I
Get 1 sits

I to
2 I t 701 10 t to

2 sits I

I 123 of the t 12 i 12

x 3761 4 I I

4 X 122 20 I 20
I 20x 2 Get 10 a tool

s x 15 14 I IetGe ti si 14 2 7

I 71
6 It 10 1 21 i 21

21 3 21 7 3 7

7 si 2 it Ii I
anti Get it


